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Multiplikation - vertikal

L 0se jede Aufgabe.

1) 9.460

5  4.330

9 3.196

13  7.919

17)  9.585
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Multiplikation - vertikal Name: L Osungsschlissel
L 6se jede Aufgabe. Antworten
1) 2) 3) 4)
9.460 3.999 4.407 1.201 . 47.300
. 5 . 5 . 8 . 9
47.300 19.995 35.256 10.809 ,  19.995
3. 35.256
. 10.809
5 6 7 8
) 4.330 ) 3.455 ) 2.309 ) 1.206 . 30310
° 7 (] 4 i 9 b 2
30.310 13.820 20.781 2.412 6. 13.820
;. 20.781
8. 2.412
9 10 11 12
) 3.196 ) 3.106 ) 1.823 ) 1.310 o 22372
. 7 . 8 . 3 . 4
22.372 24.848 5.469 5.240 0. 24.848
1 5.469
1 5.240
13 14 15 16
) 7.919 ) 1.878 ) 6.182 ) 8.869 . 39505
. 5 . 5 . 7 . 8
39.595 9.390 43.274 70.952 w  9.390
5. 43.274
1. 70.952
17 18 19 20
) 9.585 ) 1.039 ) 2513 ) 4.162 . 28.755
. 3 . 3 . 5 . 6
28.755 3.117 12.565 24.972 18, 3.117
1. 12.565
0. 24.972
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